Planning Guide: Ratio and Percent

Strategies for Reinforcing and Extending Learning
Students who have achieved or exceeded the outcomes will benefit from ongoing opportunities to apply and extend their learning. These activities should support students in developing a deeper understanding of the concept and should not progress to the outcomes in subsequent grades.
Consider the following strategies:

· Provide tips for parents on using ratios and percent at home or in the community. 

· Make mixtures of various kinds using simple ratios such as a mixture of red and white jellybeans that has two red jellybeans for every five white jellybeans. Ask how many red jellybeans are needed in a mixture with 10 white jellybeans. Ask what fraction of the mixture is made up of white jellybeans.

· Compare two quantities using multiplication instead of subtraction; e.g., there are twice as many boys as girls in a family.

· Compare percents; e.g., would you rather have 25% of $12 or 30% of $10?

· Discuss percents that are used in everyday life. For example, the child may spend 50% of his or her allowance and save 50% for a future purchase, such as a bike. Use 50% and one-half interchangeably. Similarly, use 25% and 
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 interchangeably in everyday contexts.  

· Stacey earns $12 for every $4 that Tim earns.

· Stacey earns how many times as much as Tim? Explain.

· If Tim earns $8, how much does Stacey earn?

· If Stacey earns $15, how much does Tim earn?

· Suppose you made a sample batch of purple clay by mixing two sticks of red and three sticks of blue. You want to make a larger batch of exactly the same shade. You will use eight sticks of red. How many sticks of blue should you use? Explain your thinking (Lilly 1999, p. 184).
· In a garden there are eight pea plants to every six bean plants. Find the ratio of the number of bean plants to the number of pea plants in simplest form. Use diagrams and symbols to show your thinking.  

· Use 12 cubes of three different colours so that these ratios compare pairs of colours. Draw and label a diagram to show the cubes: 1:2, 6 to 4; 1 to 3 (Hope 1997, p. 81).
· Marnie has 18 coins in the ratio of one loonie to two quarters. What coins does she spend to give a new ratio of loonies to quarters of 1:3? Give all possible answers. Explain your thinking.  

· Susie jogs 3 km for every 2 km that Pete jogs. This week, they jogged a total of 15 km. How many kilometres did they each jog this week?

· Three baseballs cost as much as two basketballs. One baseball and one basketball cost $10. What is the cost of a baseball? (Greenes 1980, Card number 142-D)

· Brandon eats two-fifths of a cake and Rheena eats 30% of the same cake. Who eats more cake or do they eat the same amount? Explain your thinking. 

· One-quarter of a jar of candies are red and 40% are black. What percent of the candies are neither red nor black?

· Shane and Jamie each have a bag with the same number of candies. Shane eats 0.4 of his bag and Jamie eats 35% of her bag. Who eats the greater number of candies?

· Bobby has 100 coins totalling $7. He has no nickels. What coins does he have if 60% of the coins were of the same kind?

· Jan and Karen are reading the same book. If Jan has read 
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 of the book and Karen has read 60% of the book, who has read more pages?

· Jodi runs three laps in nine minutes. Terry runs two laps in five minutes. Who is the faster runner or are they equally fast? Explain your thinking (Van de Walle and Lovin 2006, 
p. 162).
· Marnie spends 25% of her allowance and Peter spends 50% of his allowance. Is it possible that 25% of Marnie's allowance could be greater than 50% of Peter's allowance? Explain.
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